2021 WORKSHEET 10
NUMERACY YEAR 7

Answer all the questions in the Mathematics Activity book.

Find the correct answer for the following questions. Show all necessary working.

1. 122.34 + 4.56 = 2. 345.40 + 43.26 =
(2 marks) (2 marks)
3. 634.1067 + 2.6 = 4. 432.109 + 65.123 =
(2 marks) (2 marks)
5. 937 — 24.67 = 6. 4.783 — 0.351 =
(2 marks) (2 marks)
7. 834.210 - 4.111 = 8. 82.34 -6.21 =
(2 marks) (2 marks)
S. 23 +23+0.023 = 10. 167 +16.7 + 16.700 =
(2 marks) (2 marks)
11. 14.67 + 156 + 0.002 = 12.  55.02 + 184.9 + 4.98 =
(2 marks) (2 marks)
13. 583 - 21.02 = 14. 219-0.04 =
(2 marks) (2 marks)
15.  46.90 - 12.04 = 16. 184. 960 - 45.033 =

(2 marks) (2 marks)




